
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly
7/18/25

JWP-15B Gear Box Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly
7/18/25

Description

Index
Number Part Number Description Size Qty

1 JWP15B-401 Gear Box Cover  1

2 TS-2246122 Socket Head Button Screw M6-1.0Px12 2

 JWP15B-GBA Gear Box with Straight Cutterhead Assembly (#14
thru #45)   

 JWP15BHH-GBA Gear Box with Helical Cutterhead Assembly (#14
thru #45)   

4 JWP15B-404 Idler Bracket  1

7 TS-1502051 Socket Head Cap Screw M5-0.9Px20 1

8 PA-C61 Spring  1

9 TS-1540031 Hex Nut M5-0.8P 1

11 TS-1482031 Hex Cap Screw M6-1.0Px16 1

12 JWP15B-412 Bolt  1

13 TS-1504051 Socket Head Cap Screw M8-1.25Px25 4

14 BB-6204VV Ball Bearing 6204-VV 3

15 JWP15B-415 Gear  1

16 JWP15B-416 Gear Box Casting  1

17 JWP15B-417 Gear Box Cover  1

18 JWP15H-336 Gasket  1

19 6284843 Oil Seal TC28*40*8 1

20 BB-6201VV Ball Bearing 6201-VV 5

21 JWP15B-421 Shaft  1

22 JWP15B-422 Gear 52T 1

23 6292768 Key, Dbl Rd Hd 5x5x12 mm 1

24 JWP15H-314 Shaft  1

25 JWP15H-312 Gear  1

26 JWP15H-313 Key 5x5x10 mm 1

27 JWP15H-323 Shaft  1

28 JWP15H-317 Gear Assembly  1

29 JWP15H-320 Key, Dbl Rd Hd 6x6x40 mm 1

30 JWP15H-322 Spring  1

31 SB-6MM Steel Ball Φ 6mm 1

32 OS-25476 Oil Seal SC25*47*6 1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly
7/18/25

33 JWP15H-333 Oil Seal P12 1

34 JWP15B-434 Sprocket  1

35 JWP15H-335 Pin  2

36 TS-1503061 Socket Head Cap Screw M6-1.0Px25 5

37 JWP15H-339 Oil Plug PT1/4"-19 2

38 JWP15H-329 Clutch  1

39 JWP15H-330 Handle  1

40 JWP15H-334 Knob  1

42 JWP15B-109 Flat Washer M6 2

43 TS-1503031 Socket Head Cap Screw M6-1.0Px12 1

44 JWP208-038A Hex Washer Head Screw M6-1.0Px12 1

45 JWP15B-CA Straight Knife Cutterhead Assembly  1

 JWP15BHH-CA Helical Cutterhead Assembly 15" 1

46 JWP15B-446 Chain #06B*41P 1

Additional Information

Stock Number 722150-4

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-15b-gear-box-assembly

